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VALUES OF THE GAS CONSTANT (R) FOR DIFFERENT
VALUES OF (P), (V), (T)

(P) (V) (1) (R)
Atmosphere cc K 82.1
Atmosphere Liters K 0.0821
mm Mercury cc K 62369

gm per sq. cm cc K 8.315
1 b persq.in eu ft R 10.7
1b per sq. ft eu ft R 1515
Atmosphere eu ft R 0.73
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Methane 16.043 -161.5 (-258.7) 0.678 6 0.5547
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Ethane 30.068 -88.6 (-127.5) 1.2795 1.046 0
Propylene 42.081 -47.7 (-53.9) 1.8052 1.4757
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1,2-Butadiene 54.088 i0.9 (51.6) 2.3451 19172
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Iso-Butene 56.104 -6.9 (19.6) 2.444 2 1.9981
n-Butane 58.124 -0.5 (31.2) 2.5320 2.069 8
iso-Butane 58.124 -11.7 (10.9) 2.526 8 2.065 6
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